	[bookmark: _GoBack]STATA Output

1. ABC Missingness Analysis
2. SRS Missingness Analysis
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Note: Number of observations per group varies among imputations.

Note: Number of groups varies among imputations.

Note: Values displayed beneath estimates are Monte Carlo error estimates.

                                                                                        

                           .3328973   .6170416     0.02   0.006     .0249872    7.477924

                 _cons     1.747545   1.136872     1.54   0.124    -.4809283    3.976019

var(_cons[respondent])  

                                                                                        

                           .4049339   .4051716     0.07   0.007     .0764582    3.943721

                 _cons     9.573588   10.96737     1.97   0.049     1.013727     90.4125

                        

                        

                           .0191937   .0173278     0.06   0.025     .0036464    .1163955

             9th-12th      .3654248   .3313184    -1.11   0.267     .0617878    2.161192

                        

                           .0103151     .00947     0.05   0.014     .0019827    .0606225

              6th-8th      .3195031   .2418654    -1.51   0.132     .0724564    1.408878

              gradecat  

                        

                        

                            .014395   .0101318     0.02   0.015     .0045918    .0731199

         1.sex_restype     .6592671   .5849124    -0.47   0.639     .1158397    3.752024

                        

                           .0510265   .0340084     0.09   0.072     .0204245    .2005535

                 Male      .8439392    .542057    -0.26   0.792     .2392753    2.976627

                gender  

                        

                        

                           .0041075   .0013412     0.01   0.000     .0019311    .0057595

             1.restype     .1968061    .133353    -2.40   0.016     .0521517    .7426923

                        

                        

                           .0180539   .0107346     0.05   0.020     .0063164    .0594195

                  Yes      .4213653   .2932365    -1.24   0.214     .1076847    1.648783

                        

                           .0761346   .0725936     0.13   0.098     .0183949    .4857351

           Don't Know      .8517976   .6332253    -0.22   0.829     .1974089    3.675413

    DH_otherdisability  

                        

                        

                           .1424847   .1261272     0.16   0.120     .0354652    .8054901

                  Yes      1.288893   .8398344     0.39   0.698     .3529439    4.706828

           MH_hospital  

                        

                        

                           .3715045   .2390601     0.28   0.114     .1567325    2.016222

                  Yes      2.477747   2.111139     1.06   0.290     .4554232    13.48028

              MH_neuro  

                        

                        

                           .1688493   .2130798     0.02   0.000     .0196925    1.521408

              1.summer     8.659797   6.743613     2.77   0.006     1.882133     39.8442

missing                 

                                                                                        

               missing   Odds Ratio   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                                                                        

                                     (Within VCE adjusted for 38 clusters in respondent)

Within VCE type:       Robust                   Prob > F          =     0.0013

Model F test:       Equal FMI                   F(  10, 4198.4)   =       2.89

                                                        max       = 203,636.48

                                                        avg       =  46,788.36

DF adjustment:   Large sample                   DF:     min       =      85.72

                                                Largest FMI       =     0.3393

                                                Average RVI       =     0.1409

Mixed-effects logistic regression               Number of obs     =        206

Multiple-imputation estimates                   Imputations       =         10

  .........10 done

Imputations (10):

>    i.gradecat || respondent:, vce(robust)

>    i.MH_hospital ib(1).DH_otherdisability i.restype i.gender i.sex_restype ///

. mi estimate, dots mcerror cmdok or: melogit missing i.summer i.MH_neuro ///

. ******Multi-predictor model with mulitple imputation for missing baseline variables*


image2.emf
Note: Number of observations per group varies among imputations.

Note: Number of groups varies among imputations.

Note: Values displayed beneath estimates are Monte Carlo error estimates.

                                                                                        

                           .0446586   .0436883     0.03   0.010     .0173357    .2527175

                 _cons     .8386417   .5853526     1.43   0.152      -.30865    1.985933

var(_cons[respondent])  

                                                                                        

                           .2589356   .2413057     0.04   0.002     .0484497      1.6462

                 _cons     7.499944   6.540955     2.31   0.021     1.357272    41.44282

                        

                           .0097088     .00635     0.02   0.012     .0036368    .0391685

           sex_restype     .4999096   .3659461    -0.95   0.344     .1190655    2.098925

                        

                        

                           .0179671   .0171427     0.06   0.026     .0029878    .1171714

             9th-12th       .400095   .3505715    -1.05   0.296     .0718187    2.228889

                        

                           .0099889   .0092182     0.05   0.014     .0021021    .0588389

              6th-8th      .3430268   .2523933    -1.45   0.146     .0810967    1.450951

              gradecat  

                        

                        

                           .0315004   .0160605     0.07   0.052     .0158256    .0856929

                 Male      .9187161   .4686665    -0.17   0.868     .3379184     2.49776

                gender  

                        

                        

                           .0053612   .0020964     0.02   0.005     .0025843    .0113661

             1.restype     .4738673   .2197279    -1.61   0.107     .1909678    1.175854

                        

                        

                           .0200149   .0130352     0.08   0.023     .0069928    .0738516

                  Yes      .4018443   .2519918    -1.45   0.146     .1174713    1.374623

                        

                           .0578107   .0482499     0.15   0.096     .0163434    .2957106

           Don't Know       .649898   .4316435    -0.65   0.517     .1755988    2.405298

    DH_otherdisability  

                        

                        

                           .0748889   .0513388     0.13   0.069     .0239119    .2856178

                  Yes      .9806042   .5736884    -0.03   0.973     .3098625    3.103262

           MH_hospital  

                        

                        

                           .1719412   .1113047     0.15   0.050     .0795065    .7034064

                  Yes      2.470252   1.706104     1.31   0.191     .6366283    9.585097

              MH_neuro  

                        

                        

                           .0545822   .0556137     0.01   0.000     .0136876     .359083

              1.summer     6.923147   4.860141     2.76   0.006     1.748834    27.40681

missing                 

                                                                                        

               missing   Odds Ratio   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                                                                        

                                     (Within VCE adjusted for 38 clusters in respondent)

Within VCE type:       Robust                   Prob > F          =     0.0005

Model F test:       Equal FMI                   F(  10,10363.0)   =       3.15

                                                        max       = 4697141.03

                                                        avg       = 433,058.83

DF adjustment:   Large sample                   DF:     min       =     230.79

                                                Largest FMI       =     0.2043

                                                Average RVI       =     0.0876

Mixed-effects logistic regression               Number of obs     =        219

Multiple-imputation estimates                   Imputations       =         10

  .........10 done

Imputations (10):

(system variable _mi_id updated due to changed number of obs.)

>    sex_restype || respondent:, vce(robust)

>    i.MH_hospital ib(1).DH_otherdisability i.restype i.gender i.gradecat ///

. mi estimate, dots mcerror cmdok or: melogit missing i.summer i.MH_neuro ///

. ******Multi-predictor model with mulitple imputation for missing baseline variables*
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STATA Output     1.   ABC Missingness Analysis   2.   SRS Missingness Analysis  

 

Note: Number of observations per group varies among imputations.

Note: Number of groups varies among imputations.

Note: Values displayed beneath estimates are Monte Carlo error estimates.

                                                                                        

                           .3328973   .6170416     0.02   0.006     .0249872    7.477924

                 _cons     1.747545   1.136872     1.54   0.124    -.4809283    3.976019

var(_cons[respondent])  

                                                                                        

                           .4049339   .4051716     0.07   0.007     .0764582    3.943721

                 _cons     9.573588   10.96737     1.97   0.049     1.013727     90.4125

                        

                        

                           .0191937   .0173278     0.06   0.025     .0036464    .1163955

             9th-12th      .3654248   .3313184    -1.11   0.267     .0617878    2.161192

                        

                           .0103151     .00947     0.05   0.014     .0019827    .0606225

              6th-8th      .3195031   .2418654    -1.51   0.132     .0724564    1.408878

              gradecat  

                        

                        

                            .014395   .0101318     0.02   0.015     .0045918    .0731199

         1.sex_restype     .6592671   .5849124    -0.47   0.639     .1158397    3.752024

                        

                           .0510265   .0340084     0.09   0.072     .0204245    .2005535

                 Male      .8439392    .542057    -0.26   0.792     .2392753    2.976627

                gender  

                        

                        

                           .0041075   .0013412     0.01   0.000     .0019311    .0057595

             1.restype     .1968061    .133353    -2.40   0.016     .0521517    .7426923

                        

                        

                           .0180539   .0107346     0.05   0.020     .0063164    .0594195

                  Yes      .4213653   .2932365    -1.24   0.214     .1076847    1.648783

                        

                           .0761346   .0725936     0.13   0.098     .0183949    .4857351

           Don't Know      .8517976   .6332253    -0.22   0.829     .1974089    3.675413

    DH_otherdisability  

                        

                        

                           .1424847   .1261272     0.16   0.120     .0354652    .8054901

                  Yes      1.288893   .8398344     0.39   0.698     .3529439    4.706828

           MH_hospital  

                        

                        

                           .3715045   .2390601     0.28   0.114     .1567325    2.016222

                  Yes      2.477747   2.111139     1.06   0.290     .4554232    13.48028

              MH_neuro  

                        

                        

                           .1688493   .2130798     0.02   0.000     .0196925    1.521408

              1.summer     8.659797   6.743613     2.77   0.006     1.882133     39.8442

missing                 

                                                                                        

               missing   Odds Ratio   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                                                                        

                                     (Within VCE adjusted for 38 clusters in respondent)

Within VCE type:       Robust                   Prob > F          =     0.0013

Model F test:       Equal FMI                   F(  10, 4198.4)   =       2.89

                                                        max       = 203,636.48

                                                        avg       =  46,788.36

DF adjustment:   Large sample                   DF:     min       =      85.72

                                                Largest FMI       =     0.3393

                                                Average RVI       =     0.1409

Mixed-effects logistic regression               Number of obs     =        206

Multiple-imputation estimates                   Imputations       =         10

  .........10 done

Imputations (10):

>    i.gradecat || respondent:, vce(robust)

>    i.MH_hospital ib(1).DH_otherdisability i.restype i.gender i.sex_restype ///

. mi estimate, dots mcerror cmdok or: melogit missing i.summer i.MH_neuro ///

. ******Multi-predictor model with mulitple imputation for missing baseline variables*

